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P  3.00( ) 4.01  3.96  

)D(P  120000.00 59400.00 62400.00  
Q  10954.45  7707.14  10050.00  

)Q(P  2.92 2.96  2.92  
Q,F(P  7409.11  60828.57  63270.10  
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P  4.01  3.99 3.96  

)D(P  59400.00  60600.00 62400.00  
Q  7707.14  7784.60 10050.00  

)Q(P  3.00  2.96 2.92  
Q,F(P  58452.57  60861.08 63270.10  
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b 1b 2b
a 400000 1000000 10000000 100000 1000000 10000000
P  3.86 3.88 3.93 4.45 4.13 4.01 

)D(P  15104.63 24921.70 46894.80 203032.75 120485.32 79863.79 
Q  10050.00 10050.00 10050.00 12000.00 11000.00 10050.00 

)Q(P  2.92 2.92 2.92 2.92 2.92 2.92 
Q,F(P  13043.06 22671.86 45892.13 307748.16 143591.91 85251.87 
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A 1.30 1.00 0.50 
P  3.84 3.86 3.88 

)D(P  10426.54 14074.07 22524.87 
Q  10050.00 10050.00 10050.00 

)Q(P  2.92 2.92 2.92 
Q,F(P  8483.67 12084.59 20394.75 
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